> A
A & 0l & AF 2 E A A
20169 20& HAMSSESH A0
A B2
FM: MEHIISMe £ NAMEBE(RZES/HIIE)
©el BAZel(BAaMSELESA) (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A0 47,729,000 47,400,000 329,000
= 4,740,500
< 48,100
Al 42,940,400
MERHII2HMel £ NEHEBE(HEES/HIIES) 26,689,354 26,916,760 A 227,406
= 4,740,500
< 48,100
Al 21,900,754
Haozel(HAMNGSESAH) 8,223,819 7,790,583 433,236
= 40,500
< 12,100
Al 8,171,219
FadE X 5,102,786 5,061,379 41,407
201 et 172,924 167,517 5,407
01 At 22l 170,924 165,517 5,407
O1.28 =84l 117,808
-EAYE YEt=EH| 2,700,000& 2,700
-ANEAD ABE 50,0003 204 A %12 1,200
-2Z0Isd SXs2 SUBHS
120, 00004* MAax123 1,440
-y 2230 oAU A
110,000& =174 1238 1,320
~#H0IEE S28E DY
3,000 +312E +23| 1,872
“HANY ANEESE ME(LH)
500, 0003 284 «4CH 4,000
IRHAR PPEM ARE £ 7Y
1,500,000& =122 18,000
-HAE FY 7Y 400F 312 +10Z Al <123 14,976
-AY =010 L 2l TV EE(BZ)
36,000, 000& 36,000
-MJIE0I ¥ 2l TV ERB(RAYS
) 16,000, 000& 16,000
-2Z0lsd SX322E det=3H|
200,000& »12& 2,400
“HAXE MEMYD] = EEE2 A
130& *3&+10,0000H 3,900
-SEMNESE =3 U4 EE=S HA
70& *100,0000H 7,000
-HEHII=S =22 2 oW S22 MA
70& *100,0000H 7,000
O3.2d=¢ 980
~SF0IBY EOEIIS 28MASE 2
70,0003 »x2H 140
“HOISXMelAlE =8ISR FUXNEIS
2E/AJS FH+< 70,000 x6 X »23] 840
O4. 1=l 5,760
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A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)

SR HAZAZ(HAAIEEESAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
“HAXNY 2 5,760
AL (SHIIAF Z8) 130,000 32X 4,160
TSl 50,000& *32H 1,600
O5. 83 &H| 46,376
SHAME 99 XA ZA
7,000 x8H x8 x12& 5,376
—HAXNSY 28R MEBZAH(SHIIAL ZE)
4,000 41 *250 41,000
02 =224 H| 2,000 2,000 0
O3. A& & H| S X dl 2,000
-StE0ISE AUAMNSHAAYE RALEH|
2,000,000& 2,000
202 o4 | 12,550 10,120 2,430
01 2Ll 11,250 8,820 2,430
OBAE A2EX Y|
60,000 x8H x3 x73| 10,080
OFAXE SEHHEI 22 =2 &0
30,000& 13 33| 1,170
03 2L 204 1,300 1,300 0
OFUEI AT dEXAS 522 0|
1,300,000 x1H 1,300
203 € R F & 1,800 1,800 0
03 AIEH =X H 2 F XY 1,800 1,800 0
OBABF B ANMEN A2EAY|
1,800,000 1,800
206 M = Hl 8,000 8,000 0
01 X2 H| 8,000 8,000 0
OAEe & =4 MY 8,000,000 8,000
207 I & 50,000 20,000 30,000
01 d32E 2| 35,000 20,000 15,000
OMEHII=E =& AN Botedy
20,000,000 20,000
OMBHIIZ +F28 ANHMSY
15,000,000 15,000
02 & AJH 2| 15,000 0 15,000
OUHEHIIES 22t 28 AIAE M &
15,000,000 15,000
301 et A= 8,120 4,550 3,570
0B AISIE22IZ A= 4,620 4,550 70
OAMNZIER22H 4,620
-Jl23 154,800& » 18 x12& 1,858
-S4l | 7,000 x1H*x222 x12& 1,848
- S| 2,400 x1H*x22L x 128 634




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)

©el BAZel(BAaMSELESA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-1l =4 140,000 » 1 »23] 280
11IIEtEA S 3,500 0 3,500
OUEHIIE 2t 2N i3
100,000,000& *3.5/100 3,500
307 21201 A 4,849,392 4,849,392 0
05 RIZt2IEt = 4,849,392 4,849,392 0
OFA7Y R2AE S 4,849,392
-2EX4 68,417,000 x12& 821,004
"TEFSUMFHIIS LAY 242
2,821&*119,000AI CH*12& 4,028,388
A NE 29 1,247,094 1,224,932 22,162
101 @144 Hl 503,453 442,504 60,949
04 D122 2XREE+ 503,453 442,504 60,949
OSASMYIISEH HBEH 22l (e
Xel &) 503,453
-QI2AH| , 0303 x120H #5241 2F+12& 451,527
-AHEE JI22RE3 451,527 ,000& *11.5% 51,926
201 LB-2E| 731,841 771,628 N 39,787
01 At 22l 702,313 742,100 N 39,787
O1.get==2Hl 693,913
-MgJI=E s+ M 50,000& «500H 2,500
“MYIISY”ED SEAR @A ZEH AR
= 1,500,000 1,500
-MYJISEEI IAHHE MH
25,0002 »3000H 7,500
“MYIIS-”EI ALXCHHE ME
2003 *3&+1,00004 600
“MYIIBSEH nASE M 610,533
Y 32:&+302,0000H 9,664
10 39& *2,260,0000H 88,140
© 204 59 x3,275,0000H 193,225
° 504 1243 «981,0000H 121,644
1004 221 *375,0000H 82,875
HArE S (200 ) 61& *1,885,0000H 114,985
-R0dH AR (MYIIBSHHEE E2ED
) 110,000& 101 &+ 128 1,320
-IREE 538 SE7Y 221360, 00004 13,260
-2Z 03t = 2eBFUSEHS 2S5t
A 13,000, 000& 13,000
-HEHII= §RE3 MZE 1602 «250,0000H 40,000
MY Dl =AHAR AEIA MZE
120& =10, 0000H 1,200

-4 S EEI 2 MH

50,0003 *500H 2,500
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X XH
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el

HAW
D MEHISMe ¥ NAMES(BZEES/HIIEZ)
Fazel(EAMHASESA)

SA - BB B () - MM - BES Ol &t o San HmEET
O5.2&Hl 8,400
-MYJISEED &S 2 HEHAAM HA OF
22T SA 7,000 «25% x43| <12 8,400
02 2324l 29,528 29,528 0
O1.332LHA 19,428
-MYIEHEEI RERS
1,930& *30024 122 6,948
-G AIJt0et 2Y SRS
40,0003 x26CH 123 12,480
O3. Al ZHl s Xt 10,100
-MPYIIBEED ZAIUY RABL
350,000& »26CH 9,100
-MYIISEEEIEHSE ANE GFLHEH(CCTY) R
ANE = 50,000& 20 CH 1,000
301 L2 A S 1,300 1,000 300
11IIEtEA S 1,300 1,000 300
OMEDISE ST dOEAS 50,000& »20A 1,000
O131 3 MERM AR A DEAS
50,000& x6A 300
401 AIEHI L 2CHEI 10,500 9,800 700
01 A& tl 10,500 9,800 700
OMIIIE-Y Sl ZAIt0et &X
700,000 = 1504 10,500
HAANE (X)) sX2e 901,422 906, 298 A4 ,876
201 Let24d] 733,632 729,228 4,404
01 At 22l 13,641 13,455 186
O1.dBt=2Hl 13,641
—HAXNE FIEA =5 33,0002 »57CH 1,881
“HAXE SEEAN =8 72,0003 *20CH 1,440
“EAX SEIIAN B 7Y
1,000 «47&»5Z ¢ «12& 2,820
~EATE CNGRHEA(LHSEI]) FIIZ A ==
= 750,000& »10CH 7,500
02 =224l 719,991 715,773 4,218
O1.332=LHA 54,280
“EAaiE BEg8 800,000& »47CH 37,600
—“SAIA ALE = 700,000& «x12& 8,400
“HAaiE BENERES
180,000& »23CH 23| 8,280
O3. A€ ZHI =Xt 7,556
-230Isd =X 2 A2 KX H|
3,698& %2,043m’ 7,556
O4. Xt & el 658,155
-HEsE8 4,218,000 = 1CH 4,218

_4_




SN AT
My MEHIISH Y NAMER(BALS/HIIE)
ool HABR(FAMSSHESH)

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
- A 13,223,000 =47 CH 621,481
-Hl& &dl | X 22| 32,456
AL 3,239,000 ~4CH 12,956
H & D] 500,000 *39CH 19,500
206 M = Hl 52,790 32,070 20,720
01 =4l 52,790 32,070 20,720
OLHIHAXN B4 7L
150,000 *3J =4 x12& 21,600
OFAXE XIIEHIE ME
100, 000& 2= x123] 2,400
OFAXE HIXE RSY RAU(BS)
30,000 =47CH 1,410
OFAXE MIALE 2H9E HE 7¢
150,000& *5& *33| 2,250
OFAXE XIS otE XS DRot 2
70,000& *21CH *33] 4,410
OFAXSE AL-LRE0N 2
370,000 =40 = 14CH 20,720
401 Al HI L E0HHI 20,000 10,000 10,000
01 A& H| 20,000 10,000 10,000
OLEHIAXSE =& 2,500,000 =4 CH 10,000
O&td0|ste =X a2 LED ZHI| 7 WHZA
10,000,000 = 1Al 10,000
405 XHAHFE S HI 95,000 135,000 A 40,000
01 XA 2 ZF S H| 95,000 135,000 A 40,000
OFAXZ(/E HEA=ENN:HLS)
95,000,000 =1CH 95,000
HMAINA NSAESAIL(EX) 375,000 0 375,000
= 40,500
== 12,100
Al 322,400
405 XHo&HF S HI 375,000 0 375,000
= 40,500
= 12,100
Al 322,400
01 XA 2 ZF S| 375,000 0 375,000
OFAHINA HAXZ(CNG 58 2 =XIH)
125,000, 000& *3CH 375,000
= 40,500
= 12,100
Al 322,400
ol g1 4] 597,517 597,974 N457
801 0llbl bl 597,517 597,974 NA457
01 Btal bl bl 597,517 597,974 N457
Ouolgl gl 597,517,000 597,517
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SH: BAD
FM: MEHIISMe £ NAMEBE(RZES/HIIE)
cel: Mz ¥ 2E(HAAGEESAH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
gz & 2L (EAMLSEIA) 5,071,937 5,620,093 A 548,156
MYOIHEE 29 4,660,690 5,071,884 A411,194
101 1A bl 53,788 55,747 A 1,959
M4 II2HHZ22NSES 53,788 55,747 A 1,959
O 2l (ZAI) 2yl
48,2403 x4 +250 48,240
OAUEd JI122R2LY= 48,240,000& x11.5% 5,548
201 L2l 1,113,091 1,132,159 A 19,068
01 At 2t 2l 230,280 230,482 A 202
Of. Y2l 174,244
“HEE 2y L8 3,000,000 3,000
~SHYB AL 29 Yursa|
2,000,0002 2,000
-HEE WY 243 EXTY 3,000,000 3,000
N2 RIS 2 2SN PY
2,000,000& 2,000
Hhegd s8Z23d S8 =8 137,284
HEa s 660,000 74 A x12& 55,440
H& & Xt ZAS
550,000 *7IH 2 *300 & *4 3] 46,200
O & & XIok2 B A=
550, 000& *7JH 2= *4 3| 15,400
CEY QET HAM(SS1,2F3,HY)
1,287,000 *3JH A =4I X| & 15,444
SHaHEHMeAME =Xl SE S Z A
SS1) 200,000 * 1 & 20 X & * 123 4,800
-OHEdE FMI|jotMae s+ 2 (881,88
2) 690,000 x2H A+ 12 16,560
-SS1HEE HZ2U EISEM ===
500,000& *2CH *13] 1,000
-IHEE AIZE2e HIIZEA =22 (2d)
7,900,000 » 104 2 7,900
-SS20HEE &II&Hl EIIHA =2
1,500,000& » 104 2 1,500
O2. 218 1n=4| 500
-&Jlotd ekt A8 W =SHl 500,000& 13 500
O4.1l = H| 2,640
-Ssligd #8222 2,640
T AYS 130,000& 16X 2,080
Ot M S} 35,000& x16H 560
O5.= gl 10,752
-HEE OFAZ 2R =4
L0002 x16H 8L x12& 10,752
O6.dxts 42 144




2N
D AMEHIIEME ¥ HEWEE(BIES/HIIS)
Hej&atel o )

X ZH
S =

el

EEnt

SA - ZE-B(EN) - NRAY - B S il
-SHHEZE =EEZH YX 3,000,000 33! 9,000
-HI&0H d&= 25 0I&s&EH Xt

3,000, 000 *43| x20H A 24,000
S A Xt 132,000& =128 1,584
-SEJI(SS10ME &) 9 220,0008 <122 2,640
-H=247 X 35,000& 122 420
-SH=8&XM2ALE =Xl &4 FHE 3
dlel & Xt 450,000& =103l 4,500
02 =224l 882,811
O1.332LHA 465,620
-AotE AABE(SS1-2,2X82 252
ZAE) 2,500,000& x12& 30,000
- MAI =S A 120,000& * 12/ 120
-HIIR3(8S , dFEEAEL 8IHA)
35,000,000& x12& 420,000
-IHEE ¥ SEZFANEXNE, FHEEZ(17
o) 13,000, 000& 13,000
-HEE I SF3HMd B3
125,000 =100 »23] 2,500
O2.49 =4l 6,744
-Hetd 2 ¥ RIH(ES1- 2,28, dFX
ZAIE) 1, 1003 x 120 *8Al 2+ %404 & 4,224
-SHMEE SITIHE A=Y
1,400 %20 150 »2CH «304 & 2,520
O3. Al ZHI* Xt 376,157
-531,2 HEE & SH=ESHMAL 92,893
HEsd 2A8 CCTV 282X bI(2S1
2, A= EAIA) 500,000& = 11CH 5,500
/0 AIAE S X2l
15,000,000& = 1CH 23] 30,000
S=EEIZ 4| 300,000& = 15CH 4,500
NEAE =83 XH| 3,000,000 = 1CH 3,000
2els ¥ RFUHAIE R
2, 7173 2,095m’ 5,693
€=J] S JIAEX =81 X H|
3,000,000 =3CH 9,000
gD A2F WAHHEl 3,000,000 *3CH 9,000
Eze AEFLHEF =44l
500,000& 1038 5,000
HEAE =&KX b 2,000,000& =2CH 4,000
A FH &2 XU 300,000& 53 1,500
Bi& B & XA 2dFTH(SST - 2,
SHYSXMIAL) 1,000, 000& »7H 7,000
SIYFI A2F WU
500,000& *3CH 1,500
JIH ¥ WS =4 100,000& 1035 1,000




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B () - MM - BES Ol &t o San HmEET
SS2HEE Il el wxH
1,200,000& *13] 1,200
C SHEEHMEAE 530 A2F wiH
2,500,000 »2CH 5,000
QMY R 24,800
R/OAIAE = X2 el
10,000,000& = 1CH 23] 20,000
=SEIZ =4 300, 0002 *6CH 1,800
EZ% s4dHl 1,500, 000& »2CH 3,000
“SHIEE ANESNU(PEE 58,48,
o) 2,000,000& »23| 4,000
-EE= XMelAE |A22dl 21,000
SE 1HEH(SH=> gEg™dal)
8,000,000 8,000
S= 20HEHE 5,000,000& 5,000
CEHMEE 4,000,000& 4,000
TEZMHEE 2,000,000& 2,000
&S St HMelAld 2,000,000& 2,000
-SH YEHMeAME S EX8EAX EEHa(
51 9) 70,000 =400 m* 28,000
-IHEE ¥ SEZHALE U RALH(SFSH
2 2ldl) 205,464
ESDN 33,000,000 »2CH 66,000
Exawl 27,500,000 »3CH 82,500
220 33,000,000 = 1CH 33,000
HeEEH 7,432,000 »2CH 14,864
A PN, 9,100,000 = 1CH 9,100
O4. Xt & el 34,290
-~ =Xt 3,338,000 = 1CH 3,338
-HRE 3,338,000 = 1CH 3,338
&b ==Xt 5,318,000% «1CH 5,318
-3zl 7,432,000 »2CH 14,864
-INEH(128) 7,432,000 *1CH 7,432
202 oddl 5,400 5,400 0
01 SLHOIYI 5,400 5,400 0
O H2FA L AlE=24 220l
60,000 x5 H *32 63| 5,400
206 = Hl 1,235,621 1,345,828 A 110,207
01 MHZ 4l 1,235,621 1,345,828 A 110,207
OssHEd & =22 & ALY 4
& (P.ER) 156,360
-AES N2 (P.ERS3H,1200mm)
480,000& »100m 48,000
-JtA ZE2(PERSH) 71,340




2N
D AMEHIIEME ¥ HEWEE(BIES/HIIS)
)

el

X ZH
S =

EEnt

hgaae & 2S(FLMESEIN

SA - BB B () - MM - BES Ol &t o San HmEET
$1,000mm 280,000 *240m 67,200
£ 150mm 23,000 =180m 4,140
-0l8 AEIAA 37,020
$1,200mm 350,000& »34 % 11,900
$1,000mm 290,000& 80X 23,200
¢ 150mm 32,000 60X 1,920
Oomg® s+ el 43tl(ss81-2, 78X,
Q) 808,893
=2 EHE 1,500& *80kg* 113 13,560
—EHABHE 100,000& #0.5m" x 150 7,500
-NEN SEH(Zo2)
5,000& *310kg* 150 232,500
-2 SEM(20I2) 5,000 *8kg*1502! 6,000
=Jt A A CH(50%) 400& *2,800kgx 150 168,000
=t 4 CH20%) 2203 +1,300kg 150 42,900
- &H(35%) 1203 x650kg x 150 11,700
- AHI2E 120& %1,500kg » 150 27,000
-~ (AE)A 3,000& *x30kg 150 13,500
-XOLEAMUESE 2303 «bbkg 150 1,898
—gh ot 150,000& *1.0m 365 54,750
-2 12 M&EH (R/0) 12,500& %20£ 365 91,250
-2J12 & [ (R/0) 12,500& 204 365 91,250
- 3,000 204 =365 21,900
- =X 23,0003 +34 =365 25,185
Olg&eg gMM(es1-2,8H+,2&) +
o 270,368
R 2a0|, HYRME S 2B
25,0003 x505 *43| 5,000
-2UAN S MRS 120,000& x20& 2,400
“JIH & BH2EHIE XM 4,000,000& 4,000
-JtA 40,0003 *4 0 2 +62 960
-nEHIEN SE 3,000,000& 3,000
-R/I0 2Y ARE P (552,28 ,FEX) 226,200
Byl 36,0003 +3,000H 108,000
e 36,000& *3,0004 108,000
JtECIXNEH 34,000 3004 10,200
-RHHME ¥ 2 HEFAY
180,000& *30H 5,400
-R/0OAIE PHEIA P& 1,000, 000& *5H 5,000
-SH= G&XelAd HEHME 7L
400,000& x10& *23| 8,000
-SH= Y82 A HHME 2L 7,750
b 2+ (100A) 100,000& *50m 5,000
SWE 250,000 *5JH4 1,250
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A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SUANE 300, 0002 *54 1,500
-SH=a S8 M2AIE JIHEH E5R 7Y 2,658
JHEsH 88,000& 104 880
YHESF 59,000& %104 590
SZH A2 2 (100A) 118,800& * 104 1,188
207 Ao 38,750 8,750 30,000
01 289 30,000 0 30,000
O=S1HEE At=22| SBSSEFXA
30,000,000& =13l 30,000
03 A&l & 224l 8,750 8,750 0
Ox=Z2=24E8 =XII+2 50,000& x10& *23] 1,000
O+WEME A (LRLIO0E FAQ 45)
200,000& x5&+53| 5,000
O==&Z=Z& JIH, I+ 250,000& x5& 1,250
OF=+8% PHEE S HOIH 2&
15,0002 1004 1,500
401 Al HIZ 201 I 1,970,000 2,524,000 A 554,000
01 A& HI 1,970,000 2,524,000 A 554,000
OSH=-HEXM2ANE RIE E=2U AEH
| 100,000& *30= *334 1,002,000
OHoIZCt Ui 15,000,000 =1 CH 15,000
ONEE HEMWE =828 2 Hatl(&32)
180,000, 0002 * 14! 180,000
ONEE HWEHIIs =828 & Heldl(E2s2
) 160,000& *800& 128,000
O=S2HEE &2 MHEMETEISA
450,000,000 104 & 450,000
O=s=2HEdE MEESE B0l B2
120,000,000 * 100 2 120,000
Oss2HgE Mels cz2gd
15,000,000 * 10 2 15,000
OEMEHE ME=22] HEAIE S=HH 2
S A 40,000,000 14 & 40,000
Os=HEd dAME =4 20,000,000 «17H £ 20,000
405 XH&bF S HI 244,040 0 244,040
01 AL ESFH S 244,040 0 244,040
OsS1Hgd ¢&n 500,000 «1CH 500
OHIEY =22 (26&) 241,440,000 «1CH 241,440
OSS1HEZE dite)) 2,100,000& «1CH 2,100
MEHIIS NAHEE AL 390,383 501,513 A 111,130
201 ¢et24] 47,333 44,088 3,245
01 At 22l 32,045 28,800 3,245
O1.det==2Hl 13,800




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
MEH IS SEEEAL oS0
3,000,000& 3,000
“HOIE M S fIEX™eldl 450,000 «23| 128 10,800
O6. 94Xtz 18,245
—EEEZTAL HIY HWMEA FHH X
15,000, 000& 15,000
HYAEE L SR 2F - 24 A%
55,000& *59& 3,245
02 3323l 15,288 15,288 0
O3. Al ZHl s Xt 15,288
-A =KXl 1,118& »1,599m 1,788
-0 g AH =&KX
1,500,000 =104 2 1,500
-MERII2 EEZEAE S22l
10,000, 000& 10,000
~MERIIE EEEZEAE HEALE 282X
i 2,000,000 = 1CH 2,000
206 M= Hl 243,050 357,425 A 114,375
01 =8l 243,050 357,425 A 114,375
OMEHIIES EZTANE 29 243,050
-ZENM(AEEA) 1,540& x150kg x250 57,750
SZEANM(AEMX 28)
1002 *120m*50 4 *250 150,000
“THESE uE £w 29
8,000 *1000H =123 9,600
—YELIANE 2R 225 P 7,000
RN 5,000 «10E »53| «12& 3,000
COHEONA T HADATR 1S
200,000& x10Y *23| 4,000
-JIs & delAll 28 200,000& 43| x4F 3,200
—ASZEAAL JIAHEE AREOINMAR 6
&) 5,000,000& 5,000
-g=) sg2d WA 3,500& *3,0004 10,500
401 Al Bl 28I 100,000 100,000 0
01 A& HI 100,000 100,000 0
OSSIHEH SdSETIHY A2 &XI(25,
000 ) 100,000, 000& * 14! 100,000
ANEZ2I B BE2(MSALE) 20,864 46,696 A 25,832
09 MEZ 20,864 20,696 168
01 SA- SHILEEZ 20,864 20,696 168
OANE2EZ3E HSAEE JLEES 20,864
“MYIISEMH nASE 22U
20,864,000 20,864
MEHIISXHJSH(EAALESSA) 13,393,598 13,506,084 A 112,486




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
t 31

Ce MEHISNHIS(E AL SES (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 4,700,000
< 36,000
Al 8,657,598
AHEHEE 24 5,753,939 5,556,704 197,235
201 LB-2d| 59,458 51,023 8,435
01 At 2t 2l 45,075 36,640 8,435
O1.det==2Hl 39,615
-HEES HUHEE=S R 2,000 *1,0000H 2,000
-HEES =2 0t 7 220&%10,0000H 2,200
-HolE A el 500,000& 8= 4,000
-SA2MY D 2el=A 2,880
=FRIE L =HYY AUHE HH
100& =18, 0000H 1,800
=N 2 WEHE ol AEH WA
200& *5,4000H 1,080
-Az=sEele g 2 14,000
HE&2s 2cl=HEg 50,000& 504 2,500
L2ENEME =&E& 200,000 «30M E 6,000
T HAEX =T 30,000& 10074 3,000
SASsMY I S2=HE01(120¢ )
50,000& 504 2,500
-HEES ST =HE 72 16,0002 *300H 4,800
“HEAIE S ¥ BAHE AE X
165,000& *59& 9,735
O3.2d=¢ 2,100
M S8 S =3 W] AR 70,0002 +302 2,100
O5.=2 &l 3,360
—SASMYD| 2el=AHYRFE 24
7,000 «4Hx102 <123 3,360
02 =224l 14,383 14,383 0
O1.2Z22SZHA 1,160
—SASAAII =AHAEI MAINE 1,160
T BEE= 800,000 = 1CH 800
T EINERES 180,000 =10 23] 360
O4. Xt & el 13,223
—SASMYI =AHEI MEXLE
13,223,000& = 1CH 13,223
202 O4dl 4,320 4,320 0
01 = LH 4 bl 4,320 4,320 0
Os84se & HEES 2= RFI0H
60,0003 *4H 3 63 4,320
206 M= Hl 36,800 36,800 0
01 24l 36,800 36,800 0




2AM: Al
H: MEHIISHMe L NHEHEE(#IES/HIIS)
€l HEHIISHESH(E LA )

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OEM 2 (1g ) 2 5,500 «3,6004 19,800
ogad(1y ) 7« 3,000& x1,6004 4,800
O s M #+¢ 20,000¥ *100 & 2,000
OPETY 2 ¢ 350& *22,0007H 7,700
ONZSe3 (2004 ) ¢ 500,000 «5H4 2,500
207 I | 35,000 15,000 20,000
01 & AY| 35,000 15,000 20,000
OSAMEMY I =828 & XHeldIt pfEsd
15,000,000 15,000
HESHET SSTIL & SIS 2PN
=9 20,000,000 20,000
301 LBt A= 8,064 8,064 0
09 SHAIAHI B A2 8,064 8,064 0
OFT1NES 8LWEHE NFEAX S4
7,000 x4Hx 12 x12& 4,032
OHEESIIH XANESALA =4
7,000 x4Hx 12 x12& 4,032
307 2iz2to| & 5,410,297 5,401,497 8,800
05 QIZ2tRE 2 5,410,297 5,401,497 8,800
OsAEMy I 2T 2 Hel
132,3262 *3,086= «12& 4,900,297
OSAZ2 H fE ™l 510,000
-2 H A 85,000 x20E *300L 510,000
401 AlEHIZL 201 Y| 200,000 40,000 160,000
01 Al&H| 200,000 40,000 160,000
OR)HeasdeEd HHZ2A
200,000,000 * 1Al 200,000
SN2 Us&H 16,200 16,200 0]
201 et d9d| 16,200 16,200 0
03 HAI2 G H| 16,200 16,200 0
OZFE1L=E Ls&HH ;A 16,200,000 16,200
ME2E LAUBAZXNA(EX) 100,000 70,000 30,000
o= 30,000
Al 70,000
301 LBt A= 100,000 70,000 30,000
== 30,000
Al 70,000
11 JIEtE A= 100,000 70,000 30,000
onzeEs 8243 20,000 *5,000& 100,000
= 30,000
Al 70,000
NIHASEHIISEHEIANLALAIAIG (EX) 2,757,000 3,063,000 A 306,000
= 2,757,000




2N
CAMEHIIEMNE ¥ HEWEE(BIES/HIIS)
t )

el

X ZH
S =

EEnt

MBS HIISAHASH(E LA

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 2,757,000 3,063,000 A 306,000
= 2,757,000
02 2| 2SOHSHA == )& A HI 2,757,000 3,063,000 A 306,000
OJNAAHIISEHCIAAE AXAMY
2,757,000,000& « 1Al 2,757,000
= 2,757,000
NS HNE FS2ELHEIIAMNE(EX) 1,937,000 2,153,000 A 216,000
= 1,937,000
403 XX SHHS K20 & 1,937,000 2,153,000 A 216,000
= 1,937,000
02 BI2SOHUSXA=2E S AFE Y 1,937,000 2,153,000 A 216,000
OLNEHSHE 822 EXAMY
1,937,000,000& =14l 1,937,000
= 1,937,000
RFIDS AIS M J| 22AIAE 2= 383,057 391,345 N 8,288
201 et d| 180,392 228,640 A48 ,248
01 AFR 2t 2| H| 14,352 39,600 N 25,248
O1.48t=2H| 14,352
-SASMY Il HZFEH HEAS
46,0002 «26CH x12& 14,352
02 Z2=2=24%H| 166,040 189,040 A 23,000
O3. A& & HI KX HI 166,040
-SASMY I HEEH S22
1,660,400,000& *10% 166,040
301 et A= 102,665 62,705 39,960
11 J|EtE A2 102,665 62,705 39,960
OFRFIDEsSFHY SAsMHI SEMH it
= 302 x50kg x1,200CH *2.5/100%365 16,425
OSAZSMY I SEM HEHEH &2 XA
1,200 x1,200CH »12& 17,280
OSAMSMYI 2 24 B2SFE AME 12,800
-X 2= 700,000 x40 2~ 2,800
- 500,000 x84 &~ 4,000
-2 300,000 x200H A~ 6,000
OSASHHEY SHae2 X
3,900 x1,200CH x12& 56,160
401 Al HI L 2 THHI 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OSAEM D SSH HSEEH = L &M
100, 000& =1, 000CH 100,000
CEFe SASMYD| ZTH FT 253,700 312,000 58,300
201 Bt 201,200 222,000 N 20,800
01 AP 22| H| 201,200 222,000 A 20,800




2N
CAEHIIEMe ¥ &

el

X ZH
S =

EEnt

MEHIIS XA (E

AT E(
t

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OT.28r+80 201,200
CExe SASMYIISSN 2RE M
200& x22, 50004 4,500
-SASMY I 2010 JIE g8
5,000,000& x43| 20,000
-SA2MYI He +4E A4 222 X
70-& *200,0000H 14,000
-SASMYI E01J] EE=2 ME 14,700
o 702 %90, 0000H 6,300
b A 110,000& *400H4 4,400
S0 () 300,000 *5JH 23| 3,000
H0H(AE) 50,000& 54 x4 3] 1,000
-HEFH SASMYIISEH AEIHUMER
& 148,000
50 40& *2,500,0000H 100,000
204 403 400, 00004 16,000
604 403 x300,0000H 12,000
1204 402 *500,0000H 20,000
402 RIZ2FXt20l ™ 52,500 90,000 A 37,500
01 A=A EX 52,500 90,000 A 37,500
OSAsMY Il s =58 220 XA
) 15,000& *3,500CH 52,500
SZEHHESHEBANZ(EX) 26,000 25,500 500
= 6,000
< 6,000
Al 14,000
301 LBtEAZ 26,000 25,500 500
= 6,000
< 6,000
Al 14,000
11IIEIEAS 26,000 25,500 500
OsZ HbEIE=AHE43 10,000& »2,600& 26,000
= 6,000
< 6,000
Al 14,000
A3 8&E32(Z2 I8 1,900,562 1,911,279 210,717
09 MEZ 1,848,562 1,839,279 9,283
01 SA- SHILYEEZ 1,848,562 1,839,279 9,283
OAgzelss FEI2E JUdES 1,848,562
-HEsdgE 249 1,848,562, 000& 1,848,562
404 SABHR=HEZ 52,000 72,000 20,000
01 SAL- BHUAE2HES 52,000 72,000 220,000
OAd2elss B2 A2HES 52,000
-HEsdgE 29 52,000,000& 52,000




2N
X ZH -
L= B

el

EEnt

MBS HIISAHASH(E LA

MEHIISHad ¥ NAMES(BZES/HIIE)
t 31

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
N3SIAIE &R 266, 140 7,056 259,084
201 gBt24d| 38,140 3,816 34,324
01 AP 22| H| 12,140 3,816 8,324
O1.48t4=2H| 5,000
“EAAE LBt=ZH| 2,000,000& 2,000
-HOISH UK S AFY E22 M
300& *10,0000H 3,000
03.248¢4 3,780
-SAZHIISXHEAANEELEXNZ=E & AXAA
P BAG 70,000 *9H *63] 3,780
O5. 34| 3,360
~HANE AREE ZA
7,000 x4Hx102L x12& 3,360
02 2%l 16,000 0 16,000
O3. A& & H|l S X Hl 16,000
-SH ot AHAM™MeANE =82 X Y|
2,000,000 *8IH 16,000
03 A2 E Y| 10,000 0 10,000
OSAESFHIE NESIAE AX2d AEX
! 5,000,000& x23| 10,000
202 04| 6,000 3,240 2,760
01 2L HI 6,000 3,240 2,760
OMEHIISH2AlIE =& 0 H|
60,000& »3H x5 x53| 4,500
OSAZSHIISHMeAAE LXNAE =X 0Y|
60,000& x5 *53] 1,500
207 A0 | 200,000 0 200,000
01 s | 200,000 0 200,000
OSAZHIISHMEANAE AX JI=2HE 249
200,000,000& 200,000
301 LBt A= 12,000 0 12,000
09 HAIAHI EAZ 12,000 0 12,000
OBAAE BOAIY X0l AKX 28
60,000 x200H 12,000
401 AlEHIZL 201 Y| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
O8H % otx=HAXMe ANE =1 8X
10,000,000 » 1Al 10,000
SHMSAAH (EA)(IIEHDIE 19,208,910 18,052,040 1,156,870
OlHASAY (HADN)(HAANSEELESAH) 19,037,390 17,894,040 1,143,350
EMoE2A| 19,037,390 17,894,040 1,143,350
101 2121 d| 19,037,390 17,894,040 1,143,350




M HA
M HHE2HAH(HAM)(IIEH/IIE)
Gl AHE2IH(HAL)(EAMNGSLEIA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
03 RIAHAZ 22+ 19,037,390 17,894,040 1,143,350
O1.2&0I13& 16,472,728
-Jles 1,318,960& +«312H 123 4,938,187
g 1,958,960& *312H x200% 1,222,392
-E2E 1,958,960 »312H »180% 1,100,152
Ml & ChE Y| 1,958,960& *312H x300% 1,833,587
-hEE 238,868
bH < Xt 40,000 #3122 «0.78+12& 116,813
JIE IS 20,0003 312 «1.48x 122 110,823
SAIE (A TOE O &)
50,0003 *312& «0.06+12& 11,232
SR 90,000& +312H +x12& 336,960
Ay 70,000 *312Y « 128 262,080
- A G A 160,000& *312H x12& 599,040
-JtH 2 & HI 110,000& x312H x 12& 411,840
-wE 22| 140,000& +312H 123 524,160
-HEF O 1,958,960& *312H x150% 916,794
—2tAlH| 5,000 «312H 22 x12& 411,840
o224 64,0403 «30F x5 128 115,272
-FY2RE 120,090& #312H 20 749,362
—ANRSF/FIE 109,970& 312 20 686,213
A Rl = 70,0003 «312H 128 262,080
“NZt 225 24,0103 *312H 124 2t 89,894
-NHASHEE+E
463,990 *312E «0. 15%43| 86,859
-HAad=sd ¢ 200,000& x12H x12& 28,800
833 3,300,000& x15H*20E x1.5 1,485,000
-S30IRAEHES 46,300 *312H <123 173,348
O2 JIEtRIIHAL=Z 2 & 204,173
- AL 32,290
23 984,380 x 18 «128 11,813
&03 984, 3803 * 12 x400% 3,938
HEF It 984,380& 12 x120% 1,182
Se2RE 63,8903 x1&H*1.5%14L 1,342
AR =g 63,890 x1H »202) 1,278
MRS 70,0003 x1H 128 840
ANEESHIE RS 463,990 1Y 43 1,856
FAHZ A 130,000& 1H 128 1,560
s 1,560
* Ui S Xt 40,0003 x 18 +128 480
* J|EHILS 20,0003 »2H =122 480
* SR OF Of & 50,0003 x 18 «128 600




SA: A
HI: HNSAHY(H20)(IIEHIIE
ol ol ot (HAD) (RANYSHEH) CERED
MY . B (3H) - NEAY - BAS ofl &k o San HDE2
FELY 45,260% 1«52 2,354
d24 984,380& *1H x50%*23| 985
QG 50,000& *x1H x12& 600
22 50,000& *1H +x12& 600
Pl A= 50,000& 1 «12& 600
FE=Y 40,000& x1H ~12& 480
M= 60,000 *1H *23] 120
*OME S 984,380 *1H x10%* 122 1,182
-Xcl & 118,043
DIR= 926,050 x4H x12& 44,451
a2 926, 050& x4 H *400% 14,817
H &S Y| 926,050 *4H *120% 4,446
S22 60,9903 x4H x1 5«14 5,124
A X =G 60,990& x4 x19L 4,636
ANEESHEX4E 463,990& *4H 43| 7,424
wWEE XH| 70,000& x4 «12& 3,360
° XE & 926,050 *4H x10%* 12& 4,446
gAY 130,000& x4 x12& 6,240
CIIEsY 4,080
* it 2 X 40,000 x4H x12& 1,920
* J|EFIIS 20,000& x4 x 12 960
= AUTHOF Of & 50,000& x2H x12& 1,200
F=ERH 42 ,570& x4 x52 3= 8,855
2EIM 2 50,000& 4G x12& 2,400
d2x4 926,050 x4H x40%*23] 2,964
Pl A= 50,000& x4H x12& 2,400
E = 40,000 x4H x12& 1,920
Pl M= 60,000 *4H *23] 480
-SSHEH 29,318
DR 959,550 x1H x12& 11,515
a2 959, 550& *x1H *400% 3,839
H &S| 959,550 1 *120% 1,152
AXG 57,290& 1«20 1,146
ANESHEX4E 463,990& *1H 43| 1,856
g A 130,000& x1H x12& 1,560
s 1,200
* it 2 Xt 40,000& x1H +x12& 480
* J|EFIIS 20,000& 3« 128 720
FELY 44 110& x 1Y %52 2,294
d24 959,550& * 1H x50%*23| 960
2EIJHA S 50,000 1 x12& 600
WS 2 X 70,000 x1H x12& 840
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M HA
M HHE2HAH(HAM)(IIEH/IIE)
CHel: QIESIH(HAW)(HAANLSLESH)
SA - ZE-B(EN) - NRAY - B S il &t o il
COMECEY 959,550& x1H x10%+ 12& 1,152
T RYEIREY 57,2903« 1% +1.5+14L 1,204
-= X3l 2 2e| 24,522
== 922 ,5503 x 18 128 11,071
&403 922,550 x 1 «400% 3,691
HE S It 922,550 12 «120% 1,108
Axt+g 55,450 x 18 18 999
ZHZ A 130,000& «1H 128 1,560
T EsE 720
* B < Xt 40,000& x1H » 128 480
* J|EHIHS 20,0003 x 18 «128 240
FExE 42,4103 x 1H «52F 2,206
d2+4 922,550& *1H »40%*23] 739
243 40,0003 x 18 123 480
MRS 70,0003 x1H «128 840
be (= = e 922,5503 1« 10%+12& 1,108
O4.2Z0|st& 1=l 116,014
-Ig=s 90,000& *x312E %23 56,160
-2 9 20,000 312 6,240
-OhA (OFZ ) =7 25,0003 3128 *23| 15,600
-getE 20,0002 x312H 6,240
-Z A2 X 12,000& »312H »23| 7,488
—-OHM 3} 50,000& x3124H 15,600
-t HE 40,0003 504 2,000
-t 2 Xt 10,000& »82H 820
“HEOGAI(SIH) 1,300 x94H +45] « 122 5,866
O6.I122E3 & BEE= 1,700,635
-=0s & 4=l
16,266,800, 000 *4.50% 732,006
-HZdEE= 16,266,800, 000& *2.82% 458,724
-Ig8Ea 16,266,800, 000& *0.65% 105,735
S EE R 16,266,800, 0002 *23/1,000 374,137
-LoEDIRYEER 458,513,000& *6.55% 30,033
OgZiad g =X 452,400
—dEH 1,300,000& »312H 405,600
-SgA2F 2 300,000& x156H 46,800
Ost&0laa 0tR3aZH 24
50,000& 312 %23 31,200
OgtZilstd ZEEATG 2EESE d&XAS
1,200,000& 30 36,000
Ogd0lstd 2LE2E2 X L& As
1,200,000& »15H 18,000




M HA
M HHE2HAH(HAM)(IIEH/IIE)
CHel: QIESIH(HAW)(HAANLSLESH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ostdilstd 22X JI18s
20,000& x312H 6,240
JI2ZH(EAM) (BAMLSERA) 171,520 158,000 13,520
f A2 65,260 64,660 600
201 Let24d] 65,260 64,660 600
01 At 22l 62,860 62,260 600
ORN2Y Let==EH| 5,580,000 5,580
Og Al 54,200
- 7 50,0003 « 1 118 301 A& 17,700
-= 7 50,0002 19 x3652 x20H A 36,500
ORN2YE =&l 3,080,000& 3,080
02 =224l 2,400 2,400 0
Odslea 50,000 =40 =122 2,400
AR FE LI 101,220 87,600 13,620
202 oddl 101,220 87,600 13,620
01 = LH &4 1l 101,220 87,600 13,620
OFYSFAAHE 20,0008 27F«11L 122 71,280
OSME FRASEXOH|
10,000 x19H 11 x 122 25,080
O&EUEZRX ol 20,0002 x27H «32 »3& 4,860
2R =&l 5,040 5,040 0
203 YR =&l 5,040 5,040 0
04 FN2ELRZ=TH| 5,040 5,040 0
ORNSLERFIHI(FJ:144Y) 5,040
= 350,000& 1228 4,200
-z 5,0003 x14YH 128 840
WREs(Hal)(BHES/HIIS) 1,830,736 2,431,200 A 600,464
HEHAHXS(HELAASELHSA) 680,736 704,000 N 23,264
JISHES 680,736 704,000 A 23,264
702 JISEEZ 680,736 704,000 A 23,264
0MII3EES 680,736 704,000 N 23,264
OHYIE MelAME FHIEXS =UXFIIS 680,736
-S=slEgd 680,736,000 680,736
BEXNE(HEAANLELIA) 1,150,000 1,727,200 AB77,200
Xt 20| XH4&+ & 150,000 227,200 ATT,200
311 X+ S 01 Xk &k & 150,000 227,200 ATT,200
05 JIEHXH S 01 At & & 150,000 190,000 240,000
OMEHIIE NHIATHEE(HE , 2E)ANE &1
= 3,750,000,000& *4.0% 150,000
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M HA
FH: WRES(H20)(HHES/HIIZ)
©el: BEMNS(BAMSEESA) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AL=d=sae 1,000,000 1,500,000 A 500,000
601 XL S =4t 1,000,000 1,500,000 500,000
g 1,000,000 1,000,000 0

OMEMHIIS THAMEE(HE LF)AL &1
2

S A 50,000,000& *43| 1,000,000




